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A circle touch the line x =3 and y=2 and a line x + y=2 passes through its centre of circle then find the

diameter of circle.
(H2 )3 3)4 4)5
Ans. (2)
Sol.  Centre will lie on bisector of x =3 and y =2
x=-3 y-2
1 1
= x-3=y-2 x-3=2-y
= x—-y=1 X +y =15 (not possible)

Solve x+y=2

x—-y=1

: 3 4.3
Radius = > >

Diameter = 3

x 1 . 109 a,
2. In the Matrix A = 1 0 and A = a, a, Findthevalueofa22

(19 2)10 3)11 (4)12
Ans. (2)

< Azzx Oflx 1

Y 1 1|1 o
__x2+1 x|[x*+1 x
| x 1|l x 1

3 _(xz +1)7+x> x(x+1D)+ x}

_x(x2+l)+x Xt +1

(x> +1)*+x*=109 Let x> =¢

£2+2t+1+¢=109

= £ +3t-108=0 = (t+12)(t-9)=0
t=9 x}=9

Requires Ans. =x*+1=10

3. A die is rolled twice and the sum is noted be a multiple of four. Find probability of getting a score of four
atleast once
(H1/9 2)1/2 3)1/3 4 1/4

Ans. (1)

Sol.  Sample space
={1,3),(2,2),(3,1),(2,6),(3,5), (4, 4), (5,3),(6,2), (6, 6)}

n(s)=9
4 is occuring in only one of these 9 case (4, 4)
1
So p(E)=2E) ——
n®) 9
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1 O\
4. (22 +35 J has 33 integral terms find least value of n

(1)256 (2) 257 (3) 258 (4) 259
Ans. (1)

Sol. T, ="C(2") (5")

="C, 22 5
L.CM. of (2,8)=8
Sonshouldbe =(33-1)x8
=32x8
=256
5. I= J.|7z—|xdeFindthevalueofI.

(1) @ ) 7 (3) 2m? 40
Ans. (1)
Sol. I= 2]£|7r— | x ||dx

=2]E|7z—x|dx
0

o dx =2 x*[

= _([(7[—)() X = |:7ZX—7i|

0
2
=2{7z2 —%:|=7Z’2

6. If the first term of an A.P. is 3 and sum of first 25 terms is equal to sum of next 15 terms. Then find
common difference of the A.P.
(H1/6 (2)1/31 (3)30 (4)31

Ans. (1)

2 15
Sol. ?[al +a25]=?[a26 +a40]

S5[a+a+24d] = 3[a+25d +a + 39d]
10a + 120d = 6a + 3 x 64d
4a=192d - 120d

4a=172d
18 18 6

1 X2 XZ 2 X2
: lim—| 1—cos——cos— +cos—cos— |[=27F
7 Find the value of K 1 & [ > 4 > 4 )

(1) 1/4 2)1/5 3)6 45
Ans. (3)
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—limi 1—cosX—2 l—cosX—2
SO]. X0 XS 2 4

x—0 X4 X4
BRI NS N
4 16 64
K=6
. [ 1=x+]x| . . . .
8. L=liml————— AeR-{0,1} where[.]is Greatest integer function Find L.
20| 4 —x +[x]
(12 (2)3 (3)4 “4)5
Ans. (1)
| ~ im I-x+x :L — lim 1-x+|x]|
Sol, x>0 | A—Xx+0 | 1] =0 |4 —x +[x]
. 1-2x 1 1
:1 = = - ==
s l—x—l‘ A1 =lAHA= = 4=7
. L=L=2
1/2
1
9. Find the value of 0.16 T
(12 (2)3 (3)4 “4)5
Ans. (3)
Sol. = (0.16)10‘;5/2(”2'
~ (ljbgs/z(o'm ~ (ljl()g(z 5)(2/5)2
2 2
-2
Ay
2
I+i)2 (1413
10. — | =|- =1find GCD ofm &n
-1 1—1
()4 2)8 3)12 (4)24
Ans. (4)

Sol. (lﬂjz =((1+i)(1+i)j2 =(i)% =g
1-1 2

(%Hf :((Hl)(i“)jg =(_i)2 =>n=12
i—1 -2

GCD (m,n)=4
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11.  Abagcontains 6 red and 10 green balls, 3 balls are drawn from it one by one without replacement. If the

third ball drawn is red then the probability that first two balls are green is:

(1)3/7 (2)9/149 (3)9/56 (4)3/8
Ans. (1)
Sol.  Probability = PggR,)

P(RR,R;)+P(Rg,R,)+P(gR,R;)+P(g,g,R;)
~ 10-9-6
6:5-44+6-10-:5+10-6-5+10-9-6
90 9 3

T 20450450490 21 7

1
12. Areaenclosedby0§y§x2+1,O§y§x+l,E§x§2is:
1 1 2 ! 3)1 4 !

) @< 3) Ok

Ans. (1)
Pl
Sol. y=x"+1 (.2
2
x=2
e =

= j[(x+l)—(x2+1)]dx

1/2

= j(x—xz)dx

1/2
< 7 (1 1) 1 1) 111
= _—— =| —m—— _——— _——— _—
2 3], (23)(8 24) 6 12 12

13.  The equation of curve satisfying differential equation (1 +y?) (e*+ 1) dy = e* y*> dx and also passes
through the point (0, 1) is

l+e¢* 1+e¢”
(1) YZHZWH( 5 J () y2—1=yfn( 5 j
1+e* 1+¢*
(3) y+1=y€n( > j (4) 2y2+1=y€n( > j
Ans. (2)

2 X X
Sol.  Given equation is 1+2y dy = © _dx = Lz+1 dy= edx :>—l+y=ln(1+e")+C
y 1+e* y 1+e* y
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passes through (0, 1)
-1+1=In2+C = C=-1n2

1 x
equation of curve ¥ y = ln(l te ) ~In2

. Y2—1=yln[1+2e j

14. 272'—|:Sin1£+5i1'1 liJrsm’1 16}
5 13

65
nZ 2 3~ 4 -=
(3 @ 35 )~
Ans. (3)
Sol 27r—{tan'l +tan”’ +tan'lﬁ}
© 12 63
4 5
2 3712 |,
N 2 —| tan 15 + tan
3712
N 2w — tan’lg-kcot 1§} 272'—£=3—7Z-
16 16 2 2
15. Ify*+ /ncos®’x =y then
(1) y"(0) =2 @) 1Y) +]y"©0) =1
@) |y 0)]+]y"(0)|=3 (3) None of these
Ans. (1)
Sol. 2yy'-2tanx=y'" . (D
2yy" +2(y' )P -2sec’x=y" . (2)
whenx=0 = y=0, 1
ifx=0andy=0= y'(0)=0 = y'(0)=0
ifx=0andy=1=y'(0)=0
equation (2) 2y" +2(y')*-2sec’x = y"
atx=0 =2yy"-2=y"=>y" 2Qy-1)=2
) =25 y=0
= v )_2y 12 y=1 =b0OI=

16. S=(Q2'p,—37%,+4°p,*....51 terms) + (1! - 2! + 3! —4!) +.....51 terms), find S

(H1+51! (2)1+52! 3)1+50(51Y 4)1+51(51Y
Ans. (2)
Sol. S=@'p,-3%p+4°p,+....... 51 terms) + (1! -2! + 31 -4+ ... 51 terms)
=21-31+4!1 -5+ ... 520+ (11 -21+31 -4+ . + 51 =1+52!

17.  Thepreposition p = (~ (pA ~ q)) s equivalent to
(Dq (2) ~pvq () pv~q (4) ~pv~q
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Ans. (2)

Sol. Given =p=(~(pr~q))
= ~pv(~(pAr~Qq))
= ~pv(~pvQq)
=~pvq

2 2

18.  Let s + EY =1 is an ellipse and a hyperbola which is confocal with ellipse such that its transverse

excess is ./ then which of following point does not lies on hyperbola

1 1,_L 2) |~ 3,1 3 E’L 4) None of these
Ol @ |3 O 0

Ans. (3)

2
) 3
Sol. elllpse%+%:l a, =2b =+/3 e, =,[1-==

Focus = (£1,0)

1 1
for hyperbolaa, =—anda,e, =1 = e,=+2=b,=a,=—
Yp 2 \/5 2 & 2 2 2 \/5
2

hyperbola — X y_ =1

2
2
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JEE Main - 2020 Best Result in U.P. SCHOOL INTEGRATED

PROGRAM (SIP)

Aditya Pandey Tradition of Gravity Continues,
Percentile Once Again Historical Result,

100% Students Cracked
99.936 JEE Main

. Based on Last Yr Cut off)
City Topper ‘
Application No. 200310320565
PP Ica‘D(I)og- 2%-1 2-2002 2“20
e 80 Out of 80
65 Students Above 99 Percentile Cracked JEE Main

145 Students Above 98 Percentile We had three Batches
of 55, 15 and 10.
208 Students Above 97 Percentile

Many Top Ranks are

‘ Nl from these Batches
DCERRCRE
' = 2019

Abdullah Umayr Shivang Pandey Vinod Meena Jnaneswar Rao Pranav Rastogi Shiva Kumar Akshay Verma
(99.92) (99.92) (99.91) (99.89) (99.89) (99.88) (99.87) (99.86)

: ; ‘ s 79 Out of 80| 50 Out of 79
. r r 1 y é v H
| et | 3 < w J JEE Main JEE Adv.

Neeraj Gartia Ayush Kumar Krishna Bhardwaj Ganesh Prashant Singh Adarsh Goyal Naman Dhingra Faraz Siddiqui
(99.86) (99.85) (99.85) (99.78) (99.74) (99.71) (99.69) (99.68)

ol B | '
g [ 's 2018
h v @ v 2 83 Out of 85|62 Out of 83

Abhishek Kumar  Avinesh Pratap Ajit Kumar  Gitartha Bharadwaj Sameed Sameer Abhishek Kumar  Ayush Jaiswal
(99.66) (99.66) (99.59) (99.58) (99.58) (99.56) (99.54) (99.52) In

in
Nl . JEE Main | JEE Adv.
e S :

Sanjay Pratap  Suryanshu Kumar  Mihir Agarwal Mohil Brijesh Kumar Harshit Mishra ~ Harsh Ghandwani Abdul Nasir
(99.52) (99.52) (99.50) (99.49) (99.48) (99.47) (99.46) (99.43)

CA LG A 5| £ | 80 Out of 8563 Out of 80
T LT v 1P SEIE 2N in in

Vinay Kumar  Rustam Naryaan Tejeswar Reddy Pruthvi Raj Debdut Saini G Sai Kiran Sahil Kumar Pankaj J E E M H J E E Ad
(99.42) (99.42) (99.39) (99.39) (99.38) (99.37) (99.32) (99.31) ain V.

lilatalaslalalsla
SRR -

Satyam Agarwal Divyanshu Yadav Piyush Tiwari Alisha Verma Avinash Kumar Amisha Verma Chetan Singh Ritik umar

(99.31) (99.28) (99.26) (99.23) (99.19) (99.15) (99.13) (99.13) 39 Out of 40 31 out of 39

£ “ ~ ™ in in
EERRREED T

Shubham Kumar Randheer Aryansh Tripathi Saurabh Maurya Mohammad Affan Pradumna Awasthi Harsh Abhay
(99.10) (99.08) (99.06) (99.03) (99.03) (99.02) (99.02) (99.01)
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194 337

AIR AIR

(General) (General)

Aniket Agarwal

494 & 497

AIR AIR

(General) (General)
Shubh Sahu Shlok Nemani

50 out of 79 Cracked JEE Advanced from SIP (School Integrated Program)
4 Ranks under 500 (General Category) | 2 Ranks under 10 (Reserved Category)
126 Selections in JEE Advanced | 61 Students above 99 Percentile in JEE Main 2019

Sanjana Akash Priyanka Bibek Lakra Neha Raj Arindam

AIR-3° AR-4°  nR-68° aR-150° aR-177°  mr-809

(General EWS)

!

Priyam Mihir Chawla Madhur Kumar Manish Kumar Saumya Raj Raghav

MR-1378 niR-2237 niR-2382 nm-(26388 AIR-2696 nr-2699

(General) (General) (General) eneral) (General) (General)

Ritveek Vanshaj Subir Gupta Aryan Rastogi Devansh Abhisht Bose

MR-2709 nig-2787 nR-2881 mr-3167 nr-3600 nr-3784

(General) (General) (General) (General) (General) (General)
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